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Weekly Review #1





Mr. Lynch

Part I:  Place the letter of the correct answer on the line provided!

_____ 1) Which of the following has point symmetry?



a) A

b) T

c) S

d) W 


_____ 2) AB and CD intersect at point E, <AEC = 6x + 20 and <DEB = 10x.  What is the value of x?



a) 4 and 3/8

b) 5

c) 10

d) 21.25 

_____ 3) In the accompanying diagram, AB ││CD.  From point E on AB, transversals EF and EG are drawn, intersecting CD at H and I, respectively.

                                                                E

                        A





   B

                       C                      H                   I                D

                                    20º
                 60º

                                         F                                   G


If <CHF = 20 and <DIG = 60, what is the measure of <HEI?



a) 60

b) 80

c) 100

d) 120 

_____ 4) Which of the following has an undefined slope?



a) x = 4

b) y = 4




c) y = -2x + 9

d) x = -2y + 4


 

_____ 5) If in triangle RST, <R = 71 and <S = 37, then




a) ST > RS

b) RS = ST




c) RS > ST

d) RT >ST

Part II:  Complete each of the following showing all work on looseleaf and graph paper (if needed)!!!  Staple to the back of this sheet.
6) In right triangle ABC, CD is the altitude drawn to hypotenuse AB.  The length of DB is five units longer than AD.


a) If AD = x, write an expression for the length of DB, in terms of x.


b) If CD = 6, find the length of DB.


               A

                                                D



                              C                          B


7) The measure of the supplement of an angle is 60 degrees more than twice the measure of the angle.  Find the degree measure of the angle.

8)                 A



Given:  ΔABC is an isosceles Δ with base BC







D is the midpoint of BC






Prove:
<BAD 
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        B              D            C

9) In the accompanying diagram, l ׀׀ m.  What is the value of x?


(2x – 10)º

l


(3x – 40)º

    m

10) Triangle ABC has coordinates: A(1,-2), B(0,-4), and C(5,-6).

a) Graph and label (ABC.

b) Graph and state the coordinates of (A’B’C’, the image of (ABC after R90.

c) Graph and state the coordinates of (A’’B’’C’’, the image of (ABC after rx-axis.

d) Graph and state the coordinates of (A’’’B’’’C’’’, the image of (ABC after   T-2,3.
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